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ppm ppm m 3 — —
B | FME me/ni | me/m m'lp/rﬁ ppm | 10 | 0.06 | 0.04 0.1: 20 | 0.1 | 006 |me/m| H=x |5l £z
ppm | ppm | ppm |me/m| ppm | ppm [ ppm | ppm | FE=O
—ER{EZ=HNO | 363 | 8,559 | 0.008 | 0.326 0.053
ZERIE=ENO2 | 363 | 8559 | 0.019 | 0.076 0.039 0 7 0 0 0]
EHREIEYNOX | 363 | 8559 | 0.028 | 0.382 0.094
K 'iﬁﬁ‘(?:jffﬂg 364 | 8,685 | 0.019 | 0.147 | 0.050 0 o © o|o
JT
%T#Z?%;gﬂg;( 366 | 5397 | 0029 | 0.123 (37385) x
ZEELVES5S02] 362 | 8,606 | 0.002 | 0.021 | 0.004 0 0 0] O] O
—E{bRFECO | 364 | 8633 | 04 2.0 08 0 0 0] o| o
—ER{EZ=EHNO | 365 | 8,669 | 0.013 | 0.243 0.053
+- | ZE&1LZ=HRNO2 | 365 | 8,669 | 0.023 | 0.084 0.046 o] 26 0 0 (@)
‘Z ZHEEEYINOX | 365 | 8,669 | 0.036 | 0.295 0.098
'i%ﬁ?:f%ﬁ 364 | 8,698 | 0.024 | 0.167 | 0.057 1 of © x| O
—ER{EZ=EHNO | 365 | 8,653 | 0.038 | 0.387 0.111
- ZER{EZ=%NO2 | 365 | 8653 | 0.028 | 0.086 0.049 1| 47 0 0 @)
B EXEEHNOX | 365 | 8653 | 0.067 | 0.458 0.161
'5:3’%5‘(?3‘?? 363 | 8,675 | 0.020 | 0.151 | 0.053 1 of © x| O
—ER{EZEHENO | 364 | 8,636 | 0.016 | 0.225 0.067
7 ZFER{EZ=ZENO2 | 364 | 8636 | 0.026 | 0.087 0.049 1| 48 0 0 @)
]| EREEHINOX | 364 | 8,636 | 0.042 | 0.272 0.110
,S:ﬁﬁ(i;lj/ﬁ?)ﬁ 363 | 8,694 | 0.021 | 0.166 | 0.051 1 of © x| O
(1) NO2IZDULNTIZ. 0.04ppm LL_E 0.06ppm LLT D H %K
(2) SHMEIEN 20ppmZEi#EZ 1=[E1%K
(3) NOLIZDUVTIE. 0.1ppmEL_E0.20pm L T O B K
4) FFIAUrD( YRIFEH
e = AlE | BIE | =xZ2RM/ | 1FRED
pi:l E =
AER 22EE | gy | wm | seve | sse
JA M 366 |8,771 S -
_ JEE (m/s) 366 [8,771 2.8 142
KT -
JRE (°C) 366 | 8,782 15.6 36.7
TR E (%) 366 ] 8,782 67 -
JEL ] 366 8,769 NNE -
Fods {i\.ﬁ(m/s) 366 | 8,769 1.8 11.2
JRE (°C) 366 | 8,757 16.1 36.2
TR E (%) 366 | 8,783 65 -
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ppm m m 3 _ —
B | #RE e/ mpgp/rﬁ m'lp/rﬁ ppm | 10 | 0.06 | 0.04 0.1: 20 | 01 | 006 |me/mi| H=x |smiilE#
ppm | ppm | ppm |me/m| ppm | ppm [ ppm | ppm | FE=O
—ER{EZ=HNO | 362 | 8,611 | 0.007 | 0.237 0.046
ZEBIEZ=EENO2 | 362 | 8611 | 0.018 | 0.072 0.042 0 9 0 0 (@)
EHREIEYNOX | 362 | 8611 | 0.025 | 0.287 0.083
75 'iﬁﬁﬁzj}fﬂg 362 | 8,658 | 0.018 | 0.115 | 0.045 0 o o ol o
JT
?;T%é;gﬂg;( 365 | 5404 | 0031 | 0.180 (37013) x
ZEE{ELVES5S02] 363 | 8,604 | 0.001 | 0.031 | 0.004 0 0 o) ol o
—EE{ERZECO | 363 | 8629 | 04 1.7 0.7 0 0 e) ol o
—ER{EZ=EHNO | 364 | 8,626 | 0011 | 0.297 0.065
1-| ZBRIEZFHENO02 | 364 | 8,626 | 0.022 | 0.101 0.047 o] 28 1 0 (@)
‘Z ZHEEEYINOX | 364 | 8,626 | 0.033 | 0.365 0.104
'i’%ﬁﬁiﬁﬂg 363 | 8,669 | 0.022 | 0.117 | 0.051 0 of o o|o
—ERIEZ=EHNO | 364 | 8,624 | 0032 | 0.358 0.097
- ZERIEZ=HENO2 | 364 | 8624 | 0.026 | 0.080 0.048 o] 44 0 0 @)
5 EXREEYINOX | 364 | 8624 | 0.059 | 0.424 0.140
'5§,ﬁ(?:§f?)g 363 | 8,664 | 0.019 | 0.109 | 0.045 0 o o ol o
—ER{EZEHENO | 362 | 8,616 | 0.014 | 0.246 0.065
7 L= ZENO2 | 362 | 8616 | 0.025 | 0.112 0,052 ol 46 3 0 @)
]| EXEEHINOX | 362 | 8,616 | 0.039 | 0.316 0.112
'iﬁﬁ(?:jfn#?)g 363 | 8,671 | 0.019 | 0.144 | 0.045 0 o o ol o
(1) NO2IZDULNTIZ. 0.04ppm LL_E 0.06ppm LLT D H %K
(2) SEFREEN20ppmZEF B Z 1=[E]2K
(3) NOLIZDUVTIE. 0.1ppmEL_E0.20pm L T O B K
4) FFIAUrD( YRIFEH
e = AlE | BIE | =xZ2RM/ | 1FRED
pi:l E =
R 22EE | gy | wm | seve | sse
JA M 365 8,745 NW -
_ JEE (m/s) 365 [8,745 2.9 12.9
KT -
JRE (°C) 365 | 8,746 16 35.7
TR E (%) 365 | 8,746 66 99
JEL ] 365 | 8,758 NNE -
Fods {E\.ﬁ(m/s) 365 [8,758 1.9 9.8
JRE (°C) 365 [ 8,760 17.8 37.7
TR E (%) 365 | 8,760 64 99
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ppm ppm m 3 — —
B | FME me/ni | me/m m'lp/rﬁ ppm | 10 | 0.06 | 0.04 0.1: 20 | 0.1 | 006 |me/m| H=x |5l £z
ppm | ppm | ppm |me/m| ppm | ppm [ ppm | ppm | FE=O
—FER{EZ=FNO | 363 | 8,617 | 0.007 | 0.234 0.043
ZERE=ENO2 | 363 | 8617 | 0.018 | 0.079 0.042 o] 11 0 0 0]
EHREIEYNOX | 363 | 8,617 | 0.024 | 0.284 0.079
K éﬁﬁ(ﬁ:ﬂ;ﬁﬂﬁ 352 | 8,455 | 0.021 | 0.126 | 0.058 0 o © o|o
JT
%T#Z?%;gﬂg;( 365 | 5,398 | 0.032 | 0.161 (4930‘) x
ZEE{ELVESS02] 362 | 8,614 | 0.001 | 0.024 | 0.004 0 0 (o) Oo| O
—E&{bRFECO | 364 | 8640 | 0.3 18 0.7 0 0 0] o| o
—ER{EZ=HNO | 363 | 8,624 | 0010 | 0.209 0.047
+- | ZE&ILZ=NO2 | 363 | 8624 | 0022 | 0.088 0.046 il 19 0 0 (@)
‘Z ZHEEEYINOX | 363 | 8,624 | 0.031 | 0.288 0.090
'is’ﬁf,ﬁ‘(?:ffﬂg 358 | 8,606 | 0.021 | 0.121 | 0.054 0 of © Oo| o
—FER{EZ=HNO | 364 | 8,625 | 0.031 | 0.304 0.090
- ZERIEZ=HNO2 | 364 | 8625 | 0.026 | 0.088 0.051 1|l 35 0 0 @)
B EXEEHNOX | 364 | 8625 | 0.057 | 0373 0.136
'5:3’%,13‘(?3/(??)% 360 | 8,626 | 0.021 | 0.124 | 0.060 0 of © o| o
—ER{EZEHENO | 352 | 8,500 | 0.012 | 0.258 0.059
7 ZFER{EZ=ZENO02 | 352 | 8500 | 0.024 | 0.084 0.049 1| 32 0 0 @)
]| EXEEHNOX | 352 | 8,500 | 0.036 | 0.333 0.106
,S:ﬁﬁ(i;lj/ﬁ?)ﬁ 362 | 8,651 | 0.020 | 0.120 | 0.060 0 of © Oo| o
(1) NO2IZDULNTIZ. 0.04ppm LL_E 0.06ppm LLT D H %K
(2) SHMEIEN 20ppmZEi#EZ 1=[E1%K
(3) NOLIZDUVTIE. 0.1ppmEL_E0.20pm L T O B K
4) FFIAUrD( YRIFEH
e = AlE | BIE | =xZ2RM/ | 1FRED
pi:l E =
AER 22EE | gy | wm | seve | sse
JA M 365 ] 8,756 S -
_ JEE (m/s) 365 [ 8,756 2.9 12.5
KT -
JRE (°C) 365 | 8,758 16.2 39.3
TR E (%) 365 | 8,758 64 99
JEL ] 365 |8,749 NNE -
Fods {E\.ﬁ(m/s) 365 [8,749 1.9 7.9
JRE (°C) 365 | 8,756 17 39.5
TR E (%) 365 | 8,756 63 99
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ppm ppm ppm 3 — —
B | B5r e | oo | et | P 10 | 0.06 | 0.04 0.13 20 | 0.1 | 006 [me/m| H=x |58 E47
ppm [ ppm | ppm [me/m| ppm | ppm | ppm | ppm | =0
—ER{EZEHENO | 364 | 8,624 | 0.006 | 0.194 0.034
ZFERIEZ=HNO2 | 364 | 8624 | 0.018 | 0.066 0.038 0 4 0 0 @)
ERFEEYINOX | 364 | 8624 | 0.023 | 0.255 0.068
K '5:5’%5‘(?3/(?5 363 | 8,668 | 0.021 | 0.128 | 0.053 of © o| o
JT
?;T#;?B;gﬂg;( 365 | 5,394 | 0.032 | 0.140 84 453 x
ZE&1ELVES5S02| 364 | 8618 | 0.001 | 0.014 | 0.004 0 0 @) O] O
—BE&{bHECO | 365 | 8643 | 0.3 15 0.7 0 0 e} o|o
—ER{EZEHENO | 364 | 8,635 | 0.009 | 0.228 0.042
+- | ZERILZEZENO2 | 364 | 8,635 | 0.022 | 0077 0.043 o] 15 0 0 (@)
;i ZEHEEEYINOX | 364 | 8,635 | 0031 | 0.277 0.081
'iﬁﬁ‘(?:j/ﬁ?)g 363 | 8677 | 0.023 | 0.111 | 0.056 of © Oo| o
—BERIEZ=HENO | 365 | 8,628 | 0.026 | 0.264 0.066
- ZERIEZ=ENO02 | 365 | 8,628 | 0.028 | 0.085 0.048 o] 42 0 0 0]
B | EBREEIEHNOX | 365 | 8,628 | 0.053 | 0.307 0.109
'iﬁﬁ‘(?;ﬁ?)g 363 | 8,671 | 0.023 | 0.157 | 0.061 o © o|o
—ER{EZ=EHNO | 365 | 8,632 | 0.012 | 0.260 0.048
17 ZER{EZ=EHENO2 | 365 | 8632 | 0.025 | 0.088 0.046 o] 32 0 0 0]
)| EHEEEHINOX | 365 | 8,632 | 0.037 | 0.336 0.091
'i’%ﬁ?:f%ﬁ 363 | 8,676 | 0.023 | 0.114 | 0.057 of © Oo| o
(1) NO,IZDUL\TIZ, 0.04ppm LLE 0.06ppm LI T D B %
(2) SHEMEIEN 20ppmZiEZ 1=[E1%K
(3) NOLIZDUVTIE. 0.1ppmEL_E0.20pmEL T O B K
4) AFIEULD( )RNITEE
Bl == = iﬂ“i iﬂ“i H%?ELI’ETJ/ 1E:Tl-fﬁ§ﬁ£0)
;,I Gl 1 f =
AR REEE | By | | 2ToE | B2sE
G 365 | 8,758 NW
_ J&LE (m/s) 365 |8,758 2.8 11.8
KT -
SAE(°C) 365 | 8,759 16 36.5
TR (%) 365 | 8,759 66 99
B[ 365 | 8,726 NNE
3 1.7 .
P J;uz (m/s) 365 | 8,726 7.6
JmE(°C) 365 | 8,732 16.5 36.0
TR (%) 365 | 8,732 65 99
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ppm ppm ppm 3 — —
B | B5r e | oo | et | P 10 | 0.06 | 0.04 0.13 20 | 0.1 | 006 [me/m| H=x |58 E47
ppm [ ppm | ppm [me/m| ppm | ppm | ppm | ppm | =0
—ER{EZEHENO | 362 | 8,634 | 0.006 | 0.266 0.039
ZERIEZ=HNO2 | 362 | 8634 | 0.017 | 0.079 0.039 0 5 0 0 (0]
EREEYINOX | 362 | 8,634 | 0.023 | 0.320 0.074
K 'i’%ﬁi:fﬁg 363 | 8,682 | 0.022 | 0.106 | 0.047 of © o|o
JT
%?#;?B;gﬂg;( 366 | 5,320 | 0.033 | 0.157 90 402 x
ZE&1ELVES5S02| 364 | 8,639 | 0.001 | 0.013 | 0.003 0 0 @) O] O
—E{bR*ECO | 365 | 8,661 | 0.3 14 06 0 0 e} o|o
—ER{EZ=EENO | 366 | 8,655 | 0.008 | 0.181 0.040
+- | ZERILZEZENO2 | 366 | 8,655 | 0.021 | 0.077 0.042 o] 16 0 0 (@)
;i ZEHEEEYINOX | 366 | 8,655 | 0.029 | 0.233 0.078
éﬁﬁ(ﬁ:ﬂ;ﬁq@)ﬁ 363 | 8,687 | 0.022 | 0.257 | 0.051 2l © x| O
—BE&{EZ=HNO | 360 | 8589 | 0.022 | 0.302 0.060
- ZERIEZ=ENO02 | 360 | 8589 | 0.026 | 0.086 0.048 o] 36 0 0 (0]
B | EBREEIEHNOX | 360 | 8,589 | 0.049 | 0.374 0.097
#ﬁﬁigﬁ?)g 364 | 8,693 | 0.023 | 0.219 | 0.059 6] O x| O
—ER{EZ=HNO | 366 | 8,654 | 0.011 | 0.167 0.052
17 ZER{EZEHENO2 | 366 | 8654 | 0.024 | 0.084 0.049 o] 34 0 0 (@)
)| EHEEEHINOX | 366 | 8,654 | 0.034 | 0.233 0.098
FHERFRYE
SPM(mg/m) 364 | 8,696 | 0.022 | 0.174 | 0.053 of © o|o
(1) NO,IZDULVTI&. 0.04ppm LLE 0.06ppm LI D HL
(2) SHEMEIEN 20ppmZiEZ 1=[E1%K
(3) NOLIZDUVTIE. 0.1ppmEL_E0.20pmEL T O B K
4) AFIEULD( )RNITEE
Bl == = iﬂ“i iﬂ“i H%?ELI’ETJ/ 1E:Tl-fﬁ§ﬁ£0)
JHI G I 5 e
AR REEE | By | | 2ToE | B2sE
G 366 |8,770 S
_ J&LE (m/s) 366 |8,770 2.6 11.5
KT -
SAE(°C) 366 |8,772 16.6 37.1
TR (%) 366 |8,772 69 99
B[ 366 | 8,780 NNE
3 1.7 6.
P {El.ﬁ(m/s) 366 | 8,780 9
JmE(°C) 366 | 8,784 16.8 38.2
TR (%) 366 | 8,784 69 99




